CHRISTMAS

WORD PROBILIEMS i3

Solve the following word problems.

There are 11 kids at a Christmas party. Later that night, 5 more kids
arrive. How many kids attend the party in all?

Danny asks 10 of his friends to help him decorate his Christmas tree, and
7 of them say "yes". How many of Danny's friends couldn't help
decorate the tree?

Elizabeth has 1 more present than her friend Erica. If there are 9 presents
all together, how many does Elizabeth have?

Bobby gives Christmas gifts to 16 relatives. Annie passes out gifts to 12
relatives. How many gifts were given out in all?

There are 14 kids waiting in line to talk to Santa at the mall. Half of the
kids cry when they sit on Santa's lap. How many kids don't cry?
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